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@ x-1 @ x-2

The 5 ThAl ol -5 445 Q1R @ o, e 9147} obd
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@x_g @ x+1 ® x+2

xt=5x2+4=(x%-1)(x%>-4)
=(x+1)x-D(x+2)(x-2)




3. (1P (x+ D +2)-6(y +2)% 9] S ForH?

@ x-2y+3 @x—zy—3 ® x+2y-3

@ x+3y-7 ® x-3y+7

~&B

x+1=a,y+2=0>b=tstH
(x+1)*+ (x+ 1) +2)-6(y+2)?

= a® + ab — 6b?

= (a—2b)(a + 3D)

={(x+1) =20+ 2)H(x+1) +3(y+2)}
=(x+1-2y—4)(x+1+3y+6)
=(x-2y-3)(x+3y+7)
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3 4 = (4 x 200 +ax+b) L WL AE ab
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(3 H)

S.ab =

=(x242)2-x2
= +x+2)(x2-x+2)

. a:—l,b:Q

-1%x2=-2




5.  16x* - 625y* = 27| ALESH A2

@ (x+ 5y)(2x — 5y)(4x? + 25y?)
@ (2x+y)(2x - 5y)(4x% + 25)?)
@) (24 + 5y) (2x - 5y) (422 + 2552)
@ (x+ 5y)(x - 5y)(4x? + 25y?)

@ (2x + 5y)(x — y)(4x? + 25y?)

(@) = (1) - (3522
= (4x% + 25y?)(4x% - 25y?)
= (2x + 5y)(2x — 5y) (4x? + 25y?)




6. 1-4x®—y?+4dxy= (1+ax+by)(1+cx+dy)Qd ™, ac+bd 2] <
ToFH?

(BA) =1- (4x* —4xy +»?)
=12-(2x-y)®
=(14+2x-y)(1-2x+y)

a=2b=-1,c=-2d=1

wac+bd =2x(-2)+(-1)x1=-5
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x2—2x-y* +2y

= (x> =»*) - 2(x-y)
=(x+y-2)(x-y)

= (x+ay)(x-by+c)
Al4-E vl aotH
a=-1,b=-1,c=-2
La+b+c=-1-1-2=-4




xy(x —y) +yz(y — 2) + zx(z — x) = IFESfoA?

G?—@—W@—@@—@ @ ~(x+y)(y-2)(z-x)
@ ~(x=y)+2)(z-x) @ —(x-y)(y-2)(z+x)
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Z )= xy(x - y)—I—zx(z x) +yz(y — 2)
yx% = y2x + 22x — 2x® + yz(y - 2)
-2 -0 -2)x+yz2y - 2)

G- -0+ -)x+yz(y - 2)
- - +2)x+yz)
O-2)(x-y)(x-2)
~(x=-y)y-2)(z-x)
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@(x+2)2 @ (x-2)2 ® (x+1)2
@ (x-3)? ©® (x+3)?

3 1 -8 -12
3 12 12
2201 4 4 0
-2 4
211 2] 0
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2+ x2—8x-12 = (x - 3)(x +2)?

[ l=a+2y




. P-4+ x+ 62 AFEDMNGHH (x+a)(x+b)(x+c) Ot} a®+b% +c?
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flx)=x3—4x*> + x+ 60|22,
x=-19d, -1-4-14+6=0

TebA, £t (x+ 1) thire] BolAith
%, f(x)= (x+1)9 9545 2=t

= f(x) = (x+1)2(x) =

O(x) = THAR o2 S5t}

-1]1 -4 1 6
-1 5 -6
1 5 6] 0

f(x) = (x> =5x+6)(x+1)
f() (x=3)(x-2)(x+1)
a?+b?+c* = (-3 +(-2)+12=14




11. A= aE Al A5 x, y, zol tiske] x® +y3 + 22 = 3xyz & WSS 1,
x+y+2z9 @22

@o @ 1 ® 2 @ 3 ® 4

¥+ + 22 - 3xyz
=x+y+2)@P+y*+22-xy-yz—zx) =0
(x+y+2)=0FE=2+y’+22-xy—-yz—-2x=0

1
Cxty+z=0Ex S{x-y)?+ (-2 + (-0 =0
J8G x, y, 7V AR HGE A AF(x2y£2) O|BEZ
x+y+z=0




12. AN A= a, b, cAeloll a? —be = b? —ac = ¢? —ab ] TAZE LT
o, a® + b3 + ¢ — 3abc Q] 27

@o @1 ® 0,2
@ 0,1 ® 01,2

a® = bc = b? — ac A (a® - b?) + (ac —bc) =0
“(a+b+c)la-b)=0---OQ

b* —ac = ¢ —ab°llA (b* - ¢?) + (ab - ac) = 0
“(a+b+c)b-c)=0---©

Q0N a+b+c=0FE=a=b=c

e a® + b3 + 3 - 3abe
=(a+b+c)(a®*+b?+c?—ab-bc—ca)°|BE
1)a+b+c=0% "W a®+b%+c3-3abc =0
i)a=b=c¥d M

(F)=3a*-3a>=0

wr2bA @ + b3 + ¢3 — 3abe = 0




13.

a, b, c7F 213 0] Aol Zdol&
ca(c —a) 1 TA7E S

ab(a +b) = be(b + ¢) + ca(c - a)
a’*b + ab® — be(b + ¢) — ac®* + a*c =0
(b+c)a* + (b* = c*a—be(b+c) =0
(b+c){a®+ (b~ c)a~bc}
=((b+c)a+b)a-c)=0
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—(a+b)c®+a®+a*b+b3+ab?> =0

—(a+b)c* +a*(a+b)+b*(a+b)=0

—(a+b)(c?-a®-b*)=0
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15. 2012 = k2 & o, 2013 x 2011 k= YERJHA?

@ k% +k @k2—1 @ K+k+1
@ K-k+1 ® k2 -k

2013 x 2011 = (k + 1)(k — 1)
—Kk2-1
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=
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> = 2000
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a = 19992t 5FH
1998 x1999+ 1= (a-1a+1=a?-a+1
. 19993 +1 a®+1
T 1998x 1999+ 1 a?—a+1
(a+1)(a —a+1)
- 2-—a+1
:a+1=2000
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o] 7+09
2007 x 2008 + 1 ol a2
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2007 = a2 =11
Fo17l A& aof tizt A o= HYsHH
a®-1 a®-1
aa+1)+1 a®+a+1
(a—1)(a®>+a+1)
B a?+a+1
=a-1=2007 -1 = 2006




18. a+b+c=1,a?>+b*+2=5a+b>+c® =24 W, abc o] 727
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a?+b?+c?
=(a+b+c)?>-2(ab+bc+ca)|E=
5=1-2(ab+ bc + ca)

. ab+ bc+ca= -2

a’® + b + 3 — 3abc
=(a+b+c)(a*+b?+c?—ab-bc-ca)°|BE
2—-3abc=1-(5+2)

5
" abe =2
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7F=2] 207} xem, A 22] Ao)7t y em, EO17F zem 1 A-sHA A
x+y+z=10, 2 +y* +22 =462 ), o] FLHA ] Aylol= &
cm? Q1712

@ 45cm? @ 50cm? @54 cm?

@ 58cm? ® 60cm?

FA (x+y+2)2 =52 +y* + 22 + 2(xy + yz + zx) & ©]-85}
Fold 215 tASHA xy + yz 4 2x =27
BYolE 2(xy + yz + zx) ©| B2 54




20. o3 AL ARG ot - 3x%% + 4yt = (2 + axy + by?) (5 +
exy+dy*) B W, a+b+c+d 2 FE Aot (a,b,c,dv= )

> E.

> =g 4

(_i_/}_]l) — x4 + 4x2y2 + 4y4 _ 7x2y2

= (x2 +2y?)? = Tx%y?

= (2% + VTxy + 2y%) (5% - VTxy + 2y7)
a+b+c+d=4




4232 +9=(®+ax+b)(x*+cx+d) 2 JAFESNED O, |ab - cd|
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2, 1+ V-4, 344, 9, 2+1

@ 174 @27H ® 370 @ 47 ® 574

whebd A4

AAZ9} 2 +1 2 F 7o




24, i(x+2i) o] A7} HE A% x o] G HSPA? (= V)

@ =1 (@)12 ® =3 @ +4 ® +5

~&B

i(x+2i)2 =i(x®> + dix —4) = x%i — 4x — 4i
= —dx + (x? - 4)i
%7} el s)4:5-80] 0ol H He.

L x2-4=0 = x=42
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A kol Histe] s
St k o] 427
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=
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—k(14i0)% &] gro] A7} He &

7= 2(k -
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z=2(k—1)
=2k —2i—
= 2k —

2ki

(2+ 2Kk)i
5]4= FEo] po]fH 2 + 2k = 0 o]o]oF Fitt.
oA k= -1
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— k(1 +1i)?

o] gkl 447t 517
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26. A% ko okl Bage z = 3(k + 20) — k(1 - )2 9] Fro] 28157}
|52 ko) ghe oY

O -2 )0 @1 @ 2 ® 3

z = 3(k + 2i) — k(—2i)
= 3k + (6 + 2k)i = &=d|F
L 3k=0,k=0




27.

2 = —1olet & v, ThE F Aldste] 847} Hi 40 A 2

-2, — A2, 2, -2i
3i, —3i, 1—-i, 1+i

1 @24 @34 @i O 5

—€B
i? = —1°|B & AIFHA S57t == = 515, S ai(a £ 0)
9] Eo] E|ofof jtrt,

20, —2i, 3i, —3i47,
2,-V2 & AFo|nz
(A2 >0, (1+i)2=1+2i—1==+2i7} A},




L BAS (L-xi)(1- )7 28157} FlEs A% x o] ghe Astelat

Oa

(1-x)+ (-1 -x)i

(1—xi)(1-1)
340l ® A5EI 0= 1 -
1

A
gL
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29.

(B34 i)(a+bi) =1-3iF WHZotes A5 a, boll Hot] a+bE
T5FH?

@ -2 @—1 ® 0 @ 1 ® 2

~&B

B+i)(a+bi)=1-3i
(3a—b)+ (a+3b)i=1-3i
“3a-b=1, a+3b=-3
= a=0, b=-1
Ta+b=-1




TEAS 2 =14(a-2)i, 20 = (b—2)—ai o TNSF 7214 (2-4i) = 2,
AR ], A4 a, b 9 & a+ b9 IS F5toizt

Z1=1+(d—2)i,22=(b—2)—ai%
71 + (2 - 4i) = 75 ol HYSHH

1+ (@a-2)i+ (2-4i)=(b-2)—ai
3+ (a—6)i=(b-2)—ai

Ba57} A2 28 2200 3ol
3=b-2,a-6=-a

919] = A2 Qestol B

b=5 a=3

“a+b=28




